STRUCTURE AND MOUNTING POSITIONS

Mounting Position

B3 B8 V5

B6 B7 V6

9
®

O
030
bl

2
5
%

5%

B4R
3K

S

<

B42 @



STRUCTURE AND MOUNTING POSITIONS

OUTPUT FLANGE (F FL)
F1, FL1 F2, FL2
TORQUEARM (A)
Al — A2
R O
A
=" 0 o)
P S
OUTPUT SHAFT (DZ,SZ)
DZ1 DZ2 Sz
s it
5o\ o 1 S {1 S
@ 7 \ & o0 ® o

GB -

B43



, G X KD1 KD
| . KA
H ]
A
M L nm
T X
H N ]
-
o o N THON
— < [ /o s o
12 — 4> SRR
)i INAN i j
m
T Ll
S > ]
TIT T if l] _H i
PE cF'1
C :
P PA G
H1_|_H1
ma L1
, S\
< © 2N\ b
S ] NEZ 1
A It
Q | Dl
PN
A B |C|Cl1|DH7) |EN8) | F|G | G2 G3 H H | L1 | M N 0
UDL002-+NMRW030 80 97 |54 (44| 14 55 [32|56| 1675 | 1195 | 65 | 29 63 | 40 57 | 30
UDL002-+NMRW040 1825 | 1345
100 | 1215 | 70|60 | 18(19) | 60 |43 |71 75 | 35| 78 | 50 | 715 | 40
UDLO005+NMRW040 180 | 144
UDL002-+NMRW050 20 50|70 1925 | 1445 e | a5 | 92 | 60 e | 5
144 .
UDL005+NMRWO50 25(24) | 70 149 |85 o0 5y
UDL005+NMRW063 205 | 169 o | 53 | 12| 72 | 102 | 63
UDL070+ NVIRWOB3 144 | 174 1100 85| 25(28) | 80 |67 1030 7o
UDLO005+NMRW075 2225 | 186.5
UDLO10+NMRW075 172 | 205 [120{ 90| 28@35) | 95 |72(112| 2515 | 198 | 115 | 57 | 120 | 8 | 119 | 75
UDT020-+NMRW075 3005 | 227.5
UDLO10+NMRW090 268.5 | 215
206 | 238 |140(100| 35(38) | 110 |74 130 130 | 67 140 | 103 | 135 | 90
UDT020-+NMRW090 3175 | 2445
UDLO10+NMRW110 299 | 2455
4 27
UDT020+NMRW110 2525 | 295 [170/115 42 | 130 | - |144 348 > | 165 | 74 | 155 | 1275 | 1675 | 110
UDT030S+NMRW110 368 | 291
UDTO30L+NMRW110 368 | 291
UDT020-+NMRW130 368 | 295
UDT030S+NMRW130 2925 335 (200(120| 45 180 | - |195 388 311 215 81 170 | 1475 | 187.5 | 130
UDTO30L+NMRW130 388 | 311

B52 @




Pl Q| R[S T | V |[PA | PB| PC PE PM | PN(HS) PO PP
UDL002+NMRW030 75 44 | 6.5 21 55 | 27 | 545 | 6 4 M6x11(n=4) | 68 50 6.5(n=4) 80
UDL002+NMRW040
UDLO0SNVRW040 87 | 55 | 65 | 26 | 65 | 35 | 67 | 7 | 4 M6x8(n=4) | 75 60 9(n=4) 110
UDL002+NMRW050
UDL005 - NVIRWOS0 100 | 64 | 85 | 30 | 7 | 40 | 9 | 9 | 5 | M8x10(n=4) | 85 70 11(n=4) | 125
UDLO05+NMRW063
UDLOT0+NMRW063 110 | 80 | 85 | 3 | 8 |50 | 82 | 10 | 6 | M8x14n=8) | 150 | 115 11(n=4) | 180
UDLO05+NMRW075
UDLO10+NMRW075 140 | 93 | 11 | 40 | 10 | 60 | 111 | 13 | 6 | M8X14(n=8) | 165 | 130 14(n=4) | 200
UDT020+NMRW075
UDLO10+NMRW090

160 | 102 | 13 | 45 | 11 | 70 | 111 | 13 | 6 | M10x18(n=8) | 175 | 152 14(n=4) | 210
UDT020+NMRW090
UDLO10+NMRW110
UDT020+NMRW110
UDTO30S<NMRW110 | 200 | 125 | 14 | 50 | 14 | 85 | 131 | 15 | 6 M10x18(n=8) | 230 | 170 14(n=8) | 280
UDTO30L+NMRW110
UDT020+NMRW130
UDTO30S+NMRW130 | 250 | 140 | 16 | 60 | 15 | 100 | 140 | 15 | 6 | M12X21(n=8) | 225 | 180 16(n=8) | 320
UDTO30L+NMRW130

P o ol b t Kg. KA KB KC KD KD1 | KE
UDL002+NMRW030 70 0° 45° 5 16.3 47 71 141 108 110 110 85
UDL002+NMRW040 5.8 71 151 118 110 110 85
UDL005+NMRW040 % S 6 20.8(218) 7.3 71 163 130 110 110 85
UDL002+NMRW050 7 71 161 128 110 110 85
UDLO05+NMRW050 L R 8 28.3213) 8.5 71 173 140 110 110 85
UDLO05+NMRWO063 13.2 71 186 153 110 110 85
UDLO10+NMRWO063 M2 &) e 8 28.3(31.3 16.2 79 203 170 120 120 110
UDLO05+NMRW075 14 71 198 165 110 110 85
UDLO10+NMRW075 170 | 45° | 45° 8 31.3(38.3) 17 79 215 182 120 120 110
UDT020+NMRW075 30 - 219 197 150 - 110
UDLO10+NMRW090 21 79 230 197 120 120 110
UDT020-+NMRW090 01 4 4 10 3836419 34 - 234 212 150 - 110
UDLO10+NMRW110 49 79 250 217 120 120 110
UDT020+NMRW110 56 - 254 232 150 - 110
UDTO30S+NMRW110 | 200 | 45° | 45° | 12 453 85 ~ | 208 | 260 | 160 | - | 110
UDTO30L+NMRW110 86 - 298 260 160 - 110
UDT020+NMRW130 69 - 274 252 150 - 110
UDT030S+NMRW130 290 | 45° | 225° | 14 48.8 9 - 318 280 160 - 110
UDTO30L+NMRW130 99 - 318 280 160 - 110

GB ~ B53



